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Attention. The test duration is 75 minutes. The exam is out of 110 points. The use of a calculator, cell phone or
other equivalent electronic devices or documents are not allowed. Show your work in a reasonable detail. A correct
answer without proper or too much reasoning may not get any credit. Good luck.
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) Does lim,_,¢ f (z) exist? Explain your answer.
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(c) Is f continuous at i = 0 and at = 47 Explain your answer.
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(84+8+8) 2. Evaluate the following limits or explain why they do not exist (do not use ’Hospital’s Rule).
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(8+8+8) 3. Compute the derivatives of the following functions if they exist (do not simplify the results). (16) 4. Use the Intermediate Value Theorem to prove that the equation e™® = Inx has at least one solution in the
interval (1,2).
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(Bonus) 6. Determine whether the statement is true or false. No justification is needed.
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